EAHEHER < <NEFHEREUT—2ar>> e R

2020.10.1
(B ) OE=E) .
HpE nHERRaES/ A | YERRY | REER S E o ez | BENE/B |O+Q&E(A
gﬁﬁxx GEI- ABREE) ﬁ(ﬂﬂ]ﬁﬁﬂ:ﬁﬂﬁ @ ﬁ% Eﬁﬁnnﬁ %&%lﬁ%%% ® 4@0)1,3_«%)
121848 1,864 0 1,864 650 234 E=E 884 5,902
ESZ 2E|&48 3,728 0 3,728 650 234 2E& 884 7,844
RE2[N=F:| 5,592 0 5,592 650 234 2E& 884 9,786
15548 3,936 0 3,936 650 234 £E 884 8,052
ZXiE2 2E|&48 7,872 0 7,872 650 234 £& 884 12,144
3Z&4E 11,807 0 11,807 650 234 £& 884 16,235
MEIER ERY—ERX) (BB )
HHB +%8 15848 2EI& 48 REN=E:E] =5
EE}]*&?EWL’]D% ﬁ %E 244 488 731 E%ﬁgﬁigaE"]&L/-CU/\EUT_‘/EI‘/E%BELT:%
JINE)T—3 IR AVMNNE H % 358 715 1072 UNEYT—La B OES K REEHRMICTEL-SE
ofe il & OfEEEENMETLCTWBFIAE L, #eEm EEB e
CUEMRRER L AIN 1 E 163 525 88 |LrmRlntissE ot a i (A 2EE LR
F Dk
TE——A(TT & TR BN A R o 2 X N =54 7% X 10.83MH) — (A X 0.9)
NEBENEREMNE I 2% AT EEERINFR B AL B X N E 34.7% X 10.83H) — (A X 0.8)
3% A(ﬁé%%ﬁﬁm.:ﬁ%% X ﬂngiﬂj% x 10.83H) — (A x0.7)
el D ki P+ 1] AT B RN e B 2R X M 21.7% X 10.83MH) — (A X 0.9)
=E %
B AN ELEREMNET I 2% AN ERENFA B S5 x INEER1.7% % 10.83M) — (A % 0.8)
3Z| AN EEERANFA BT 2 X HNE2E1.7% X 10.83) — (A% 0.7)




